\$757,539.33



Overall - Total

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 30, 2025

Progress Estimate Number 5	Contract ID Prime Contracto	241213- r Emery S	B01 Sapp & Sons, Inc.		iod Start iod End		mber 16, 20 mber 30, 20		Net Change	ntract Amour Order Amou ntract Amoun	nt (\$45	7,519.05 4,923.86) 2,595.19
Approval Date											By U	Jser
September 30, 2025			Generated and	Approved	(and shou	ld be co	onsidered D	raft) a	at the Project	Office Level b	ру	flynns1
October 1, 2025		R	eviewed and Appr	oved (and	should be	consid	ered Draft)	at the	Resident En	gineer Level b	у	baxtem1
October 3, 2025				Reviewed	and Appr	oved at	the Central	l Offic	e Controllers	Office Level b	у	ramses1
Original Completi	mpletion Date	Actual Completion Date % of Current Contract Amount Cor						ount Comple	ete			
November 1, 2	025	Novemb	per 1, 2025							72.19%		
	Contrac	t Informati	onal Dates						Mi	lestones		
Date Description	Original Comple	etion Date	Current Comple	tion Date			Date		Original	Current	Days	Diary
Acceptance Date							Descript	ion	Completion Date	Completion Date	Remaining on	Charge Days
Awarded Date	January 8, 2025		January 8, 2025								Milestone	,-
Letting Date	December 13, 20)24	December 13, 20	24			Milestone	-	December	December	89	
Notice to Proceed Date	February 10, 202	25	February 10, 202	5			Calendar Time -		31, 2025	31, 2025		
Work Began Date	August 12, 2025		August 12, 2025				J2I3309					

Contract Total Pa	y For Estimate No. 5			
		This Estimate	Previous	To Date
241213-B01	Total Posted Items Pay	\$757,539.33	\$3,532,630.92	\$4,290,170.25
	Gross Item Adjustments	\$1.22	\$21,125.23	\$21,126.45
	Incentive Disincentive	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$33,100.00	\$126,442.00 \$3,680,198.15	\$159,542.00 \$4,470,838.70
Contract Total Pa	yable This Estimate:	\$790,640.55	¥3,233,100.10	¢ ., 5,555.10

Items Paid T	his Estima	ate Period					
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J2I3309	0010	4030116	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125B MIX)	TONS	\$82.750	7,353.540	\$608,505.44
	0020	4071007	TACK COAT - NON-TRACKING	GAL	\$3.000	6,146	\$18,438.00
	0060	6161005	CONSTRUCTION SIGNS	SQFT	\$8.000	220.460	\$1,763.68
	0090	6161033	DIRECTION INDICATOR BARRICADE	EA	\$90.500	6	\$543.00
	0110	6161055	SEQUENTIAL FLASHING WARNING LIGHT	EA	\$90.500	6	\$543.00
	0140	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.310	26,751	\$8,292.81
	0150	6205903A	$6\ \mbox{IN.}$ YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.300	52,525.840	\$15,757.75
	0180	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$1.300	68,695.860	\$89,304.62
	0210	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	STA	\$13.700	1,050.440	\$14,391.03
Project J2I3	3309 - Tota	ıl					\$757,539.33

Contract Adjustments	This Estimate				
Project Number	Adj Type	System Generated	Comments	Project Percentage	Amount
J2I3309	Other Contract Adjustment	flynns1	Lots 9 & 10	100	\$33,100.00
Project J2l3309 - Total					\$33,100.00
Overall - Total	\$33,100.00				
Line Item Adjustments	This Estimate				

Revision 9/2/2025 Page 1 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 30, 2025

Pro Estima	ogress te Num 5		241213-B01 Emery Sapp & S		Pay Period Start Pay Period End	September 16, 2025 September 30, 2025	Original Contract Ar Net Change Order A Current Contract An	mount	\$6,397,519.05 (\$454,923.86) \$5,942,595.19
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustmen Type		Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2I3309	0010	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125 MIX)	Other Item Adjustment	Asphalt Cement Price Adjustmen	t				\$4,706.27
	0180	COLDMILLING BITUMINOL PAVEMENT FOR REMOVA OF SURFACING (3 IN. THICK OR LESS)					-3,619.27000	\$1.30	(\$4,705.05)
Total									\$1.22

Revision 9/2/2025 Page 2 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informati	on
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J2I3309	I 70-3(276)	Coldmill and resurface	I-70	MONTGOMERY	from 1.4 miles eas	t of Route F to east of Route	MM in Warrenton
Totals I	by Job N	umbers					
J2I3309					This Estimate	Previous	To Date
		d Item Pay Item Adjustm		s Item Pay	\$757,539.33 \$1.22 \$757,540.55	\$3,532,630.92 \$21,125.23 \$3,553,756.15	\$4,290,170.25 \$21,126.45 \$4,311,296.70
	Incent				\$0.00	\$0.00	\$0.00
		entive			\$0.00	\$0.00	\$0.00
		lated Damages Contract Adju			\$0.00 \$33,100.00	\$0.00 \$126,442.00	\$0.00 \$159,542.00

Revision 5/29/2025 Page 3 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 241213-B01, Contract Project J2I3309, Project Item Line Number 0180, Contract Line Item Number 0180, Item 6221001, Minor Item.	Change order required	flynns1	Acknowledged

Revision 5/29/2025 Page 4 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ntract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
1213-	J2I3309	0001	0010	4030116	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125B MIX)	40,561.00	0.00	40,561.00	TONS	40,361.71	\$82.75	\$3,339,931.50
1		0001	0020	4071007	TACK COAT - NON-TRACKING	36,928.00	0.00	36,928.00	GAL	29,848.00	\$3.00	\$89,544.00
		0001	0030	4133200	ULTRATHIN BONDED WEARING SURFACE, TYPE C	345,469.00	-345,469.00	0.00	SQYD	0.00	\$5.10	\$0.00
		0001	0040	4134000	BITUMINOUS FOG SEAL	36,563.00	0.00	36,563.00	GAL	0.00	\$3.00	\$0.00
		0001	0050	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	LS	1.00	\$9,600.00	\$9,600.00
		0001	0060	6161005	CONSTRUCTION SIGNS	1,117.00	0.00	1,117.00	SQFT	1,117.00	\$8.00	\$8,936.00
		0001	0070	6161025	CHANNELIZER (TRIM-LINE)	400.00	0.00	400.00	EA	200.00	\$23.45	\$4,690.00
		0001	0800	6161030	TYPE 3 MOVEABLE BARRICADE	8.00	0.00	8.00	EA	8.00	\$187.00	\$1,496.00
		0001	0090	6161033	DIRECTION INDICATOR BARRICADE	60.00	0.00	60.00	EA	36.00	\$90.50	\$3,258.00
		0001	0100	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$850.00	\$1,700.00
		0001	0110	6161055	SEQUENTIAL FLASHING WARNING LIGHT	60.00	0.00	60.00	EA	36.00	\$90.50	\$3,258.00
		0001	0120	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$4,525.00	\$9,050.00
		0001	0130	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$295,500.00	\$295,500.00
		0001	0140	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	126,805.00	0.00	126,805.00	LF	26,751.00	\$0.31	\$8,292.8
		0001	0150	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	107,844.00	0.00	107,844.00	LF	52,525.84	\$0.30	\$15,757.75
		0001	0160	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	7,200.00	0.00	7,200.00	LF	0.00	\$1.06	\$0.00
		0001	0170	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$1.00	\$0.00
		0001	0180	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	369,277.00	0.00	369,277.00	SQYD	372,896.27	\$1.30	\$484,765.15
		0001	0190	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,800.00	-1,800.00	0.00	SQYD	0.00	\$9.05	\$0.00
		0001	0200	6229905	MISC.PAVEMENT GROOVING	19,937.00	-19,937.00	0.00	SQYD	0.00	\$5.45	\$0.00
		0001	0210	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	2,037.00	0.00	2,037.00	STA	1,050.44	\$13.70	\$14,391.03
		0001	5001	6229905	MISC.Pavement Grooving	0.00	297,738.00	297,738.00	SQYD	0.00	\$4.30	\$0.00
		0001	5002	1046002	VALUE ENGINEERING	0.00	151,641.29	151,641.29	EA	0.00	\$1.00	\$0.00
	Project J	J2I3309 - To	tal Value	Posted to D	Date as of Report Generated Date							\$4,290,170.24
213-B	01 Overa	II - Total Va	lue Post	ed to Date as	s of Report Generated Date							\$4,290,170.24

Revision 5/29/2025 Page 5 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J2I3309

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	4030116	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP1	9/16/25	9/30/25	1	1,966.98	TONS		65.499		67.685		
			9/17/25	9/30/25	1	2,000.60	TONS		64.967		66.955		
			9/19/25	9/30/25	1	620.61	TONS	WB RTE A &Y Ramps	.1		.1		
			9/22/25	9/30/25	1	962.34	TONS		67.683		68.727		
			9/24/25	9/30/25	1	1,803.01	TONS		66.95		68.727		
0020	4071007	TACK COAT - NON-TRACKING	9/16/25	9/30/25	1	1,936.00	GAL		65.499		67.685		
			9/17/25	9/30/25	1	1,839.00	GAL		64.967		66.955		
			9/19/25	9/30/25	1	532.00	GAL	WB RTE A &Y Ramps	.1		.1		
			9/22/25	9/30/25	1	387.00	GAL		67.683		68.727		
			9/24/25	9/30/25	1	1,452.00	GAL		66.95		68.727		
0060	6161005	CONSTRUCTION SIGNS	9/17/25	9/30/25	1	220.46	SQFT		.1		.1		
0090	6161033	DIRECTION INDICATOR BARRICADE	9/17/25	9/30/25	1	6.00	EA		.1		.1		
0110	6161055	SEQUENTIAL FLASHING WARNING LIGHT	9/17/25	9/30/25	1	6.00	EA		.1		.1		
0140	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	9/29/25	9/30/25	1	26,751.00	LF	Intermitting White centerline EB 181.761-191.609 WB 58,412-68.729	.1		.1		
0150	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	9/29/25	9/30/25	1	52,525.84	LF	EB left edge line	181.761		191,609		
0180	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	9/16/25	9/30/25	1	18,852.08	SQYD		65.499		67.685		
			9/17/25	9/30/25	1	18,660.62	SQYD		64.967		66.955		
			9/19/25	9/30/25	1	5,928.33	SQYD	WB RTE A &Y Ramps	.1		.1		
			9/22/25	9/30/25	1	8,574.72	SQYD		67.683		68.727		
			9/24/25	9/30/25	1	16,680.11	SQYD		66.95		68.727		
0210	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	9/26/25	9/30/25	- 1	1,050.44	STA		181.761		191.609		

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 6/5/2025 Page 6 of 9



Line Item Adjustments by Estimate

Contract ID: 241213-B01

ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
9	0010	ASPHALTIC CONCRETE MIXTURE PG	Other Item Adjustment	ACAD	2	Aug 17, 2025	flynns1	\$4,016.51	Estimate 0002
		76-22 (SP1			3	Aug 31, 2025	flynns1	\$8,177.34	Estimate 0003
					4	Sep 16, 2025	flynns1	\$8,931.38	
					5	Sep 30, 2025	flynns1	\$4,706.27	
				ACAD - Tota	al			\$25,831.50	
			Other Item Ad	justment - To	tal			\$25,831.50	
	0010 -	Total						\$25,831.50	
	0020	TACK COAT - NON-TRACKING	Material		2	Aug 17, 2025	SYSTEM	(\$14,253.00)	
				- Total				(\$14,253.00)	
			Material - Tota	ı				(\$14,253.00)	
			MaterialCredit		3	Aug 31, 2025	SYSTEM	\$14,253.00	
				- Total				\$14,253.00	
			MaterialCredit	- Total				\$14,253.00	
	0020 -	Total						\$0.00	
	0060	CONSTRUCTION SIGNS	Material		2	Aug 17, 2025	SYSTEM	(\$5,444.32)	
				- Total				(\$5,444.32)	
			Material - Tota	ı				(\$5,444.32)	
			MaterialCredit		3	Aug 31, 2025	SYSTEM	\$5,444.32	
				- Total				\$5,444.32	
			MaterialCredit	- Total				\$5,444.32	
	0060 -							\$0.00	
	0070	CHANNELIZER (TRIM-LINE)	Material		2	Aug 17, 2025	SYSTEM	(\$3,517.50)	
				- Total				(\$3,517.50)	
			Material - Tota	l e			0) (0==14	(\$3,517.50)	
			MaterialCredit		3	Aug 31, 2025	SYSTEM	\$3,517.50	
			M (1 10 11)	- Total				\$3,517.50	
			MaterialCredit	- I otal				\$3,517.50	
	0070 -	TYPE 3	Material		0	A 47	OVOTEM	\$0.00	
		MOVEABLE BARRICADE	Material	- Total	2	Aug 17, 2025	SYSTEM	(\$748.00) (\$748.00)	
			Material - Tota					(\$748.00)	
			Material Credit		3	Aug 31, 2025	SYSTEM	\$748.00	
				- Total		2020		\$748.00	
			MaterialCredit	- Total				\$748.00	
	0080 -							\$0.00	
	0090	DIRECTION INDICATOR BARRICADE	Material		2	Aug 17, 2025	SYSTEM	(\$2,715.00)	
				- Total				(\$2,715.00)	
			Material - Tota	ı				(\$2,715.00)	
			MaterialCredit		3	Aug 31, 2025	SYSTEM	\$2,715.00	
				- Total				\$2,715.00	
			MaterialCredit	- Total				\$2,715.00	
	0000	Total						\$0.00	



Line Item Adjustments by Estimate

Contract ID: 241213-B01

J2I3309	
Material - Total (\$1,700.00) MaterialCredit 3 Aug 31, 2025 \$1,700.00 - Total \$1,700.00	
MaterialCredit 3 Aug 31, 2025 \$1,700.00 - Total \$1,700.00	
- Total \$1,700.00	
MaterialCredit - Total \$1,700.00	
0100 - Total \$0.00	
0110 SEQUENTIAL Material 2 Aug 17, SYSTEM (\$2,715.00) FLASHING WARNING LIGHT 2 2025	
- Total (\$2,715.00)	
Material - Total (\$2,715.00)	
MaterialCredit 3 Aug 31, 2025 \$2,715.00	
- Total \$2,715.00	
MaterialCredit - Total \$2,715.00	
0110 - Total \$0.00	
0120 CHANGEABLE Material 2 Aug 17, 2025 (\$9,050.00) WITH	
COMMUNICATION 3 Aug 31, SYSTEM (\$9,050.00) INTERFACE, CONTRACTOR 2 A 24 CYSTEM COST CONTRACTOR	
ELIDNICHED / 3 Aug 31, SYSTEM \$9,050.00 This adjustment offsets the origin	nal system-generated Material Payment) due to user flynns1 overridding Payment rent Payment Estimate.
- Total (\$9,050.00)	
Material - Total (\$9,050.00)	
MaterialCredit 3 Aug 31, 2025 \$9,050.00	
- Total \$9,050.00	
MaterialCredit - Total \$9,050.00	
0120 - Total \$0.00	
0180 COLDMILLING Overrun 5 Sep 30, SYSTEM (\$4,705.05) BIT. PAVT FOR REM OF SURF.	
Overrun - Total (\$4,705.05)	
Overrun - Total (\$4,705.05)	
0180 - Total (\$4,705.05)	
J2l3309 - Total \$21,126.45	
Overall - Total \$21,126.45	



Contract Adjustments for Contract - 241213-B01

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
3	J2I3309	Other Contract Adjustment	SPAD	\$60,573.00	100	August 31, 2025	flynns1	SP125 25-54 A Lot 1,2,3 & 4
3 - Total				\$60,573.00				
4	J2I3309	Other Contract Adjustment	SPAD	\$65,869.00	100	September 16, 2025	flynns1	
4 - Total				\$65,869.00				
5	J2I3309	Other Contract Adjustment	SPAD	\$33,100.00	100	September 30, 2025	flynns1	Lots 9 & 10
5 - Total				\$33,100.00				
Overall - Total				\$159,542.00				

Revision 5/29/2025 Page 9 of 9